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11.

12.

The figure shows the plates of a parallel plate capacitor with 10cm and charges to a potential
difference V. Find the difference between B and A.

2V 3V
1) 5 2)V/2 3) =

Figure shows a uniformly charged ring having charge Q and radius R. the distance from the
centre on the axis of the ring where electric field maximum

1) RV2 2) RA2 3) 2R

3) V/S

4)R

Figure shows a uniformly charged ring having charge QQ and radius R. Find distance from the
centre on the axis of the ring where electric field 1s

Q

Two 1dentical drops of radius R and surface tension ‘T’ coalesce to form a bigger drop. The
change 1n surface energy 1n this process 1s

—

1

1) 4nRT| 1-23 | 9y 87R’T|14+23| 3y 4nR’T|1+2° | 4y 87RT| 2% -1

Two galvanometers G and G, are having resistors R, =5€2 and R, = 7€), number of turns
N =21, N, =15, magnetic field B, = 0.25T, B, = 0.50T and area of coll A, = 3 6 x10 *cm’

and A, = 1 8 x10 *cm?’ - Find the ratio of their voltage sensitivity same spring in both

1) 49/25 2) 7/5 3) 5/7 4) 59/20
Match the List- I with the List II

1) Heat capacity a) Jkg 'k

11) Specific heat capacity b) JK™!

1) Latent heat c) Wm 'K

1v) Thermal conductivity d) JKg™

1) (1) - (b), (1) - (d), (1) - (¢), (1v) - (a)
2) (1) - (b), () - (a), () - (c), (1v) - ()
3) (1) - (b), (1) - (¢), () - (d), (1v) - (a)
4) (1) - (b), (0)- (), (1) - (d), (1v) - (c)
1

What 1s the dimensional formula of (where p_ 1s permeability and €_ 1s permittivity

O O

of free space)
1) LT 2) L°T 3) MLT™! 4) ML*T

An equilateral prism 1s made of a material of refractive index J2 . Find angle of incidence

for miimum deviation of the light ray

1) 60° 2) 30° 3) 37¢ 4) 459
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Q. Match the reactions given in List-| with the name of the
reaction gwen in |.!5t-|| and select the correct option.

| —

D.E

I Fittig reaction
I

anhy. Zncl, Wurtz reaction
ROH —b

Soda lime
Decarboxylation reaction

A-l, B-IV, C-ll, D-lII

A-lll, B-1V, C-lI, D-I

A-lll, B-ll, C-IV, D-

A-l, B-ll, C-lll, D-IV

QN Two identical drops of radius R and surface tension’ T’ coalesce to form a bigger drop. The
change 1n surface energy 1n this process 1s

1) A7R°T

3) A7R*T

2) SZR T

4) SZR-T
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Find the eccentricity of ellipse in which length of minor axis is equal to one-
fourth of the distance between foci

The image of the point (1, 0, 3) about the line passing through d = 31 + 2] — k
and whose direction ratio are ¥ = 41 + 2f — k is

if the domain of the function
1

1
M= T mm @
b), then (1+ a)? + b?is equal to

In the mean and variance of eight observationsa, b, 8, 12, 10, 6,4, 15,159 and 9.25 respectively
Then a +b + ab 1s equal to

1) 76 2) 83 3) 79 4) 93
dy 2 2 y S

I{ p F2ysec x =2sec’ x+3tanx—sec” X and f(o):Z’ Then the value of
X

C (7Y 1)
12| y| —
\y(4/ = equals to

Total number of terms 1n an A.P are even. Sum of odd terms 1s 24 amd sum of even terms 1S

21

30. Last ter, exceeds the first ter, by - Find the total number of terms
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